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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. All questions are to be attempted.

3. Part (a) of each question is compulsory.

4. Attempt any three out of the remaining parts.

5. Answers may be written in Hindi or English but the same medium should be
followed throughout the paper.
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(a) (1) Mr. A is planning to buy a bond which is priced at Rs. 200. He would
receive Rs. 220 at the end of one year as principle plus interest. He’s
expecting inflation to be around 12% this year. Would you advice
Mr. A to buy this bond ? Explain your answer. (2)

(1) In calculation of GDP from expenditure approach, exports are added
and imports are subtracted. Explain. 2)
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(b) () What constitutes the current account of the balance of payment account

of a country ?

)

(i) Explain the “Fundamental Balance of Payment Identity” ? How does

the official settlement balance ensure this identity ?

()

(c) (1) Explain how you would treat the following two transactions in National

Income Accounts;

A. Mr. X’s total investment in shares was Rs. 10,000. With increase in

stock market, the investment at the end of the year is now worth

Rs. 15,000.

B. Tata Motors buys machinery worth Rs. 1,000 domestically.

)

(i) From the following information, calculate GDP, Private Disposable

Income and Private Savings;

Consumption _ Rs. 4000
Compensation of Emploj)ees Rs. 5300
Rental Income of Persons Rs. 500
Proprietor’s Income ' Rs. 800
Corporate Profits Rs. 700
Net. Interest - . Rs. 400
Indirect Business taxes ' Rs. 600
Depreciation | Rs. 900
Transfers Received from Government Rs. 250
Interest Payment on Government Debt Rs. 300
Direct Taxes Rs. 650

)

(d) Derive the three measures of Saving, that is National Saving, Private Saving

and Government Saving. Suppose the Government deficit increases, then at

least of the following three or a combination of them must happen; (i) Private

Saving must increase, (ii) Investment must fall, (iii) The current account

balance must fall. Explain.
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(¢) Suppose an economy produces only two goods X and Y. Quantities and

3

prices per unit for the years 2011 and 2012 are given below

2011 2012
< Quantity Price Quantity Price
X 15 80 20 100
Y 5 40 10 30

(i) Calculate nominal GDP and real GDP in both years, taking 2011 as

base year.

(i) Calculate the GDP deflator for both years.
(ii)) Calculate the rate of inflation of the economy.

(iv) If the nominal rate of interest = 20% what is the real rate of interest
of the economy ? - _ (7)
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(a) (1) Using the quantity theory of money and the Fisher equation, explain
how money growth affects the nominal interest rate. - _ (2)

(i) How does the Tanzi-Olivera effect work during the period’of Hyper
inflation ? S )

(b) Derive the expression showing the relation that financing a large deficit through
seigniorage can lead only to high inflation in the economy. (7)

(c) Derive the demand for money. Using money demand and money supply
curves, show how the rate of interest changes with a decrease in money

supply. ' (7)

(d) (1) Given the Cambridge version of the quantity theory of money, assume
that income = 500 and the money supply = 200 units. Assume people
wish to hold one fifth of their income as money balances. Calculate the
aggregate price level. If rhoney supply increases to 400 units, what
would be the change in price level ? Explain. (5)

(i) Expléin the costs of unexpected inflation. (2)

(e) Explain how the overall supply of money in the economy depends on the
amount of High Powered Money. (7)
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3. (a) (1) If the government follows the policy of a balanced budget that is
AG = AT, (where G is government spending and T is Taxes) will there

be any change in budget surplus ? Explain. (2)

(1) In the IS- LM framework, suppose demand for investment becomes
less responsive to changes in the interest rate. What will be the impact

on the effectiveness of fiscal policy ? : (2)

(b) In the classical model, analyse the effects of an increase in the government
spending, financed by selling bonds to the public, on output, employment

and the price level. (7)

(c) Given the following information for the economy of a country;

Consumption, C = 85 + 0.5 Yd (Yd = Disposable income)

~ Investment, I = 65

Government purchases, G = 60

Taxes, T = 0.2Y (Y = Income)
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(i) Solve for equilibrium level of income and consumption. 4)

(1) Calculate Government’s budget surplus/deﬁcit.v _ (H

(i) Suppose the taxes increase to 0.25 Y. What would be the new
equilibrium level of income ? Explain why the equilibrium income
changes when the tax rate changes. (2)

(d) In an economy, the central bank pursues an expansionary monetary
policy. Simultaneously the government of the economy lowers the tax rates.
Hlustrate the effects of such a policy mix on equilibrium output and interest
rate. : (7)

(e) (1) Given the following information;

Consumption, C =360+ 0.2 Y
Investment, I = 120-400i
Government purchase, G = 120 (Y = Income, i = Interest Rate)

A. What value of the interest rate clears the goods market when
Y = 600?

B. Use the goods market equilibrium .condition to derive the IS
- equation. €))

() Trace the process of adjustment to achieve equilibrivum in the
economy when there is excess supply of goods and excess demand for
money. (3)
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